TR

FHTE

RanEE

BHTA

BF

4R

=i / IR

R

Bz

ACfaRR

)
ERBE

BE&EHFRT]
LB
#z
H=/A
IR

[J40mm
[160mm
[180mm
[185mm
[J100mm
[J120mm

Motion

Control Products

oSMSZFIBZI T —5tHF Y | oSMs26-z) FaR+Ow0mm [RoHS|[ CE |

BNl SRENNERESRERE RS HBENEBHTE.
® HUEITE WU, AR, Btk

BAIER

[ R

> IMFEEBREY, EEHE.
P 7R E I E e AR

25 G110

D3 G017, G111 (B [a)if &)

P EMITXHMFEE, FEARDANGHALRZHTE0E, T2
SNHEATAFIREFNNILZE .

e OSMS26-50(2) OSMS26-100(2) OSMS26-200(2) OSMS26-300(2)
M6& & OSMS26-50(Z)-M6 | OSMS26-100(Z)-M6 | OSMS26-200(Z)-M6 | OSMS26-300(Z)-M6
INCHEI S OSMS26-50(Z)-INCH |OSMS26-100(Z)-INCH|OSMS26-200(Z)-INCH|OSMS26-300(2)-INCH
1742 (mm) 50 100 200 150
BERT (mm) 100X 100 100X 100 100X 100 100X 100
(M6, INCH) (120%120) (120X 120) (120X 120) (120X 120)
b 24T (mm) RHLITEZ 68 5182 | FHLZIERZ 68 5182 | FYHLIERZ¢8 522 | FHLIERZ¢8 522
HAER | SHERX URISNE A, URISNE 4 URISNE A, URISNE A,
FEH# BE HE HEE BE
REALE 2aEL ZaaEl 2aEl 2aEL
BHE (kg) 4.4 4.9 7.2 7.4
N (#4%) (um/Bkim) 4 4 4 4
A (325) (um/Bxim) 2
BKXEE (mm/sec) 10 10 10 10
ENAEE (um) 15 20 30 40
ESEMNHEE (um) 3 3 6 6
A EEES (N) 39.2 (4.0kgf) 39.2 (4.0kgf) 39.2 (4.0kgf) 39.2 (4.0kgf)
Ei?ﬁﬁ? 754 (” /N - cm) 0.4 0.4 0.4 0.4
HEERIE 1RZE ("/N-cm) 0.15 0.15 0.15 0.15
%) (" /N cm) 0.20 0.20 0.20 0.20
=474 (um) 3 3 5 5
fEFENERE (um) 3 3 3 3
ZHEEE (um) 30 40 50 40
M () MRIE (7)) 50/20 50/20 55/20 55/20
fERiR RIS B 5B GP1S092HCPIF (FE (#) )
- PR BRAL B 15 R 25 A (E) A (M) A (Ei) A (Ei)
B AfEREE =) £ =) =)
plig -3 V=X o3 ) £l £l )

R/ fER SR B AR 4R

E: i) 5% R4l 0.75A/4#8 (ORIENTAL MOTOR () )
L)1 e PK525HPB-C4 ([028mm)
By 0.72°
FLREE DC5~24V+10%
- THFER T 80MART (EMERZE20mART)
iR S NPNEBRRFHKMEH DC3OVIITS50mAT
BFEHEX ESERT: 4 RAEOFF (#1k)

FER AL

HEFFIE RO BN AR / IR B S

Eikul

SG-5M, SG-5MA, SG-55M, SG-55MA, SG-514MSC, MC-7514PCL

il

GSC-01, GSC-02, SHOT-702, GIP-101, SHOT-302GS, SHOT-304GS, HIT-M - HIT-S, PGC-04




X8 \W9069

2D
CAD

Slm)
CAD

SN

OSMS26-* *(Z)-M6 [ m miit mexis...at

OSMS26-% *(2)

ﬂ MARIZE MaX15...41

=
100 e iy
bH ¢!+ Ud i
45 45 e
5 o)
Il ¢ L
351 35 27-M4X0.7 76 Eu[
2525 S "
16/16 ol fet B d
10 /0T0 BTEEN )
=818 % o .10t <
ar E s
RN = Nig 2 ;o‘ ‘o;
L ¢ ©.@ & lLo* +* J
8-M3X0.5 6
O
28 g
o E
®
IE‘ g
1|/d
10|
[ 1 o
90 5. 90 |
100 100 \
\
4-04.5R¥ETL|
S A B ©
OSMS26-50(Z) 306 125 25
OSMS26-100(2) 356 150 50
OSMS26-200(2) 463 200 100
OSMS26-300(2) 556 250 150

OSMS26-* *(Z)-INCH

E M7 FIMRHE 1/4-20UNC X 5/8...44

120 3L
508 50.8 PH *!* K
76.2 o
69,85 o ° E
= i
541254 17-1/4-20UNC K6 &
5.4 25 i
15.86]15.88 / 10-8-32UNC X6 |g o [
¢ 3 ° © ©
. -
+ b < = a3 éo 3 ob <
OO0S Sowen v £ 1L/ T IR NS St N
3o = ry ®
IS miw S o 6 %o
R g e g e
° o | © ° 9 °
T )
[ *
[ e
| d © \;__F)[
|8-6-32UNC iR6 @ =
03 ® &
=
i I
101.6
120

WiRLE

kRS S
TR (k) 1
SDAB-15PHEL &

— BNS%

E

E

5~24VDC

Ls(—)
N.C. (RIEM)

[~ RESERVE
—N.C. GREM)
Ls (+)

NEAR
N.C. (RER)

TE RRAUIAR PR AL B A A8 0 + T el

ED BUELRE: E—mFTW () #

WEB http://www.sigma-koki.com/index.php?lang=cn

17JE-

B (ORG)
ARBRAL B e 2
EHEFON o

Rl (NEAR)
RRE BB
HESRFON

B (+)
ARPRAL B ek ey
ASERfON

FEHU (—)
ARPRALE ek aR
ASLETON

13150

120 \
4-OTREERL\

=
120
50 __ 50 ole L
75 ¢_ e e He' T 'l':E
35 | 35 °
25128 o © B
16118 17-MBX1 6 = j
10-M4X0.7 6 € © &
E 3 © « 3 ke
300 3 #ln <
ovortiore] 28" g 0%t s t0%0 H
v b 28l ™ PRENS
w6 oo © L b gbe 4
< o © & 6 & j
\ 8-M3X0.5 3
8-M3X0.5 76 ° o o
@ i
©| © ® g
=
o ° ifias:
0.,
1T 1T H A
100 ol w0 [
120 120 \
4-06.5%%7\
S A B c
OSMS26-50(Z)-M6 306 125 25
OSMS26-100(2)-M6 356 150 50
OSMS26-200(Z2)-M6 463 200 100
OSMS26-300(2)-M6 556 250 150
S A B ©
OSMS26-50(Z)-INCH 305.6 124.6 25
OSMS26-100(Z)-INCH 356 150 50
OSMS26-200(Z)-INCH 463 199.2 100
OSMS26-300(Z)-INCH 556 250 150

HE ()
WA e
GP1S097HCP1

W 25088 / 3R = A8 FIFE SR AT L AL

zController coppsyCable g TlStage

GSC-01 (1%h)
GSC-02 (2%h)
SHOT-702  (2%#)
GIP-101 (1%h)
SHOT-302GS (2%#)
SHOT-304GS (4%#)

HIT-M-HIT-S (8%f)

PGC-04 (agh)
D1 G098~G105

D15D15A-CA
ED] G108

0SMS26-50(2)
0SMS26-100(2)
0SMS26-200(2)

AR e— [SESE——] osms2s-3002)

H RN AR

EDJ G020~G021

DAC-SG
EDJ G108

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

3323

FHTH

RanEE

WEzFE

BF

e

R / W
NG

Fitrl
AcfARR

HEEHRTI
LB

[J40mm
[J60mm
[180mm
[185mm

[0100mm
[0120mm



